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clpP:

1 TatgatTTGACctttatTGACcaaaatattataataaagacaat
45 cagtaaaaaagagatgacctagtgggttgccgtctcacaaaatg

90 acactactaaaaacccttgtagattggagaatgtattATG

clpL:
1 TtttatTTGACctttacTGACcttttgattataataatactata
45 agatgagtaaaaataatgtctgaatcattttattagcaaaggat
90 ttcctatcatgtgaaatcctaacaacgattctgcgactgcttac
135 aaacatcttatagtctattttttattgcgaggtaactgatATG

clpE:

1 atgaataTaaagtTTGACcattttTGACtaaatgactttgactt
45 ttagataaaccctcggaggtatattATG

groES-groEL:

1 TttttcTTGACtattttTGACcaagtgataaaatagaatataaa
45 gttagcactcgatgaacatgagtgctaactttactaaagattct

90 tttattggaggaaaatttcATG

ctsR-clpC:
1ttgttataataAtaGTCAgttttaGTCAAaatgtAttgacgtgg
g5 tgctactaagtttttagagtagcccgcaagcaaaggagtgacag

90 CATG
clpX-engB:
1 ttaatagtattcacgccttctatggtacattgttttgagatgcg

45 acttgcaaagacagcactggtgaagatttagctatcaagcaaga
90 atcaccaaaaaccaatacaacacattgactaatattaaaattca

135 gtaaaagataagagaaagtaagagaattataagaaATG
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